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THREEZRERRICERERSROIERERRSE TREFAZLTLEY,
FERENMNEMICHOTEH, RRICEATHEWGE(E, BRZAETIAQKICEAYVEER A,
Z0=6 BROFER. AQ-HFEBATAFTRIZGDBENHYFT A REIFT X JELTEYFET,

BT £ AO 1R B 18R E-q 3 BiR | HEH | BE
e 353 0 166 2 187 -2 162 1
FLHT 191 -2 91 -1 100 —1 85 -2
ESHT 111 0 42 0 69 0 51 0
KEH 29 0 13 0 16 0 11 0
NER) 18 0 5 0 13 0 6 0
AR 156 0 68 0 88 0 61 0
=1 39 1 7 0 32 1 1 1
78 L ET 381 3 212 2 169 1 241 3
EHT 7 0 6 0 1 0 8 0
& HT 195 1 80 1 115 0 69 2
EEHT 161 2 73 2 88 0 85 2
AT 188 -2 101 -1 87 —1 111 —1
AHT 200 -3 95 -1 105 -2 94 -1
2 EHT 364 1 207 2 157 —1 212 2
FHT 60 -2 26 0 34 -2 39 -1
18 faET 90 0 35 0 55 0 42 0
ESHT 109 0 56 0 53 0 59 0
—&T 0 0 0 0 0 0 0 0
NET 120 0 59 0 61 0 54 -1
t&ET 143 0 66 0 77 0 59 0
INET 73 0 37 0 36 0 30 0
NET 179 —1 75 -1 104 0 85 0
+&T 215 4 90 3 125 1 108 2
35k Fe T 358 6 163 2 195 4 166 2
5iEET 3,077 18 1,482 11 1,595 7 1,353 13
EFAET 3,938 4 1,928 0 2,010 4 1,713 5
Ed=1:] 1,686 7 825 7 861 0 677 7
ohEHT 1,631 -7 884 -1 747 -6 907 2
FTHEET 640 —1 292 -1 348 0 242 0
H #THT 3,628 8 1,774 1 1,854 7 1,693 6
Lid6 BT 2,959 -16 1,441 -9 1518 -7 1,259 -8
¥R BT 2,840 9 1,386 8 1,454 1 1,066 5
JIIFEET AL 4538 0 2,224 1 2,314 -1 1,993 1
JIIFE BT F 2,167 7 1,049 3 1,118 4 858 7
ARKHET 9,021 3 4,382 -6 4,639 9 3,858 12
=&HT 3,880 —1 1,858 —4 2,022 3 1,673 —4
[ FH AT 1417 —1 731 -1 686 0 620 —1
EREFETER — 2,580 9 1,219 2 1,361 7 993 6
EREFET R 5 2,065 1 1,007 2 1,058 -1 858 6
EREFRT PR 5 657 3 330 4 327 —1 270 1
& K BT 5,486 4 2,594 -1 2,892 5 2,136 4
ARG F0ET 284 —1 275 -1 9 0 276 -1
EE 3] 2 -3 9 0 X -3 2 -3
EXRE—TH 354 2 189 1 165 1 184 0




EXREIZTH 240 -2 98 -1 142 -1 124 -2
EXREI=TH 0 0 0 0 0 0 0 0
EXRETETH 0 0 0 0 0 0 0 0
EXRETATH 216 0 106 0 110 0 91 0
LtEE 0 0 0 0 0 0 0 0
TEE—TH 296 4 137 3 159 1 144 2
TERI=TH 558 -3 252 -3 306 0 286 -1
TEBR=TH 228 2 101 1 127 1 96 1
BWEE—TH 429 -2 206 1 223 -3 221 -2
WERT—TH 516 0 227 0 289 0 257 0
HEET=TH 232 1 109 1 123 0 138 0
e FrET—T B 323 1 160 0 163 1 144 0
BT =T H 401 -3 200 -1 201 -2 214 -3
EFEWLET—TH 123 1 54 0 69 1 62 1
L FEWLWET=TH 343 3 167 1 176 2 177 2
AR —TH 257 0 125 0 132 0 161 1
AR Z=TH 422 —6 206 -3 216 -3 225 —4
=R—TH 120 2 58 1 62 1 58 0
E 235 -1 109 1 126 -2 127 2
[ H Hih 150 0 76 0 74 0 117 0
FPRET—TH 180 -6 82 -5 98 —1 91 -3
WA= TH 422 1 213 1 209 0 193 1
FRFET—TH 560 0 258 1 302 —1 253 0
bR =TH 452 0 217 -1 235 1 192 0
FFET=TH 699 6 324 4 375 2 314 3
hRFETE T B 399 -1 192 -1 207 0 204 -2
FFEETRTH 599 -4 274 -2 325 -2 234 -3
FEET—TH 206 2 118 0 88 2 110 -1
HER—TH 294 -3 168 -3 126 0 172 -2
AEER—TH 378 -3 184 -2 194 —1 200 -2
piEERI=TH 273 -2 133 -1 140 -1 128 -1
IER—TH 128 0 73 0 55 0 71 0
IERRI—TH 479 -3 230 0 249 -3 230 -1
IEERT=TH 528 0 289 3 239 -3 281 1
IERMTH 191 -4 93 -3 98 -1 98 -1
IERMATH 564 0 268 1 296 -1 317 0
KimlI—TH 317 5 157 4 160 1 135 3
KimBI—TH 168 3 85 2 83 1 88 2
KFEH—TH 103 0 44 0 59 0 67 0
XFH=ZTH 3 0 0 0 3 0 4 0
KXFH=TH 128 0 72 0 56 0 54 0
TZEETAE—TH 671 -5 333 -3 338 -2 268 -2
TEEETE=TH 346 0 155 1 191 —1 134 0
TEEE=TH 647 0 308 -1 339 1 246 0
TEETAEETH 599 -1 274 -1 325 0 265 -1
TEEEAETH 693 1 329 -2 364 3 330 1
T EETFEATH 557 4 282 1 275 3 272 3
TEEELETH 648 7 335 7 313 0 358 4
T EETAE/NTH 625 -3 288 -1 337 -2 280 -1
TZHRETE—TH 1,323 -2 617 -1 706 -1 628 -2
TREE=-TH 362 —1 189 1 173 -2 169 1
THRETER=TH 638 -4 306 -4 332 0 268 -3
TZETRMTH 948 -5 428 -3 520 -2 444 -2
THRETERATH 901 7 487 4 414 3 501 5
TZETRANTH 559 -2 275 -1 284 —1 279 -2
THRETEETH 1,546 1 735 -2 811 3 765 -2
TZETR/\TH 1,077 1 500 1 577 0 596 1
THRETREATH 335 5 186 4 149 1 178 4
T EETdE—TH 90 —1 50 -1 40 0 78 -1




T2ETAL—TH 95 0 61 0 34 0 79 0
I =t 81,410 43 39,655 24| 41,755 19 36,686 61
AEREE 73 0 30 1 43 -1 53 0
AEHTH 54 0 29 —1 25 1 27 0
AERTR4E 3 0 0 0 3 0 4 0
ABET /MR 78 0 36 0 42 0 33 0
AEBTKE 0 0 0 0 0 0 0 0
AEHET{EH 27 0 14 0 13 0 11 0
AERRE 1 0 2 0 X 0 1 0
AERTE /R 7 0 3 0 4 0 6 0
4B 6 -1 2 0 4 -1 5 -1
AEMXEST 249 -1 116 0 133 -1 140 -1
LERISIA 23 0 13 0 10 0 14 0
LERLINE 33 0 13 0 20 0 25 0
LERTZ DL 22 0 10 0 12 0 14 0
[LERTEHER 9 0 4 0 5 0 10 0
LERTER 32 —1 12 -1 20 0 22 —1
I SET 3 9 0 6 0 3 0 10 0
LERXA 14 -2 7 -2 7 0 8 -2
LER/NMNEE 27 0 15 0 12 0 12 0
FEHT 13 0 10 0 3 0 11 0
[LEMXE 182 -3 90 -3 92 0 126 -3
BUEER &5 431 -4 206 -3 225 -1 266 -4
FEERETE £ 1,159 -3 554 -2 605 -1 475 -2
EETET 654 0 288 0 366 0 224 —1
AT EE 1,084 -1 532 -1 552 0 412 0
e IRET M H 7 1,060 1 506 2 554 —1 407 1
BIETERER 1,304 -3 631 -1 673 -2 395 -1
BT ERER 1,091 5 517 4 574 1 446 2
BT = A 3,667 —11 1,762 -4 1,905 -7 1,483 -4
B X EE 10,019 -12 4,790 -2 5,229 -10 3,842 -5
BRI LAY E LT 1,714 -15 803 -6 911 -9 631 -5
SRILBT AT F 2490 19 1,193 20 1,297 -1 1,000 22
BRILLET B /M 1,805 -2 898 -2 907 0 749 -2
BRILLET A 3R T 1,593 -3 792 2 801 -5 620 -3
BRILET SR 1,295 9 622 4 673 5 512 4
BRILLET )R 2,292 3 1,111 1 1,181 2 897 0
EALESTE 4,724 -25 2,315 -21 2.409 -4 2,051 -16
Bl X 5t 15,913 -14 7,734 -2 8,179 -12 6,460 0
= L 107,773 13 52,385 17 55,388 -4 47,254 52




